
������ �	�
����
������	�������
������������	��������� ���������
��
���	������
�	�	� ��	���
�	�	� ���� �!�"�
�����

�
�#��� 
$	 �������������	�
�
�%�&��
����
� ���
������ ������

���������� ���������
������������ ���
������
��������� ����������
����!���"
��� �
�� 
���

�	�	������
�'��	 #$%�&��������"����  ��. �
���(  ���)��

(�����	�	�
����
� 2548

)���!�*�

 ��+"
������,���	�
����
�
1 � /0
�������1��� �%
��%���2""������!�����������0������1�������
��
�������� /0


���������$%(
�����������1���%�����
������� �!�����/
 
!��3
������ "�������������� 4��%��
��1���� )#��5�������� �/0
 ������ 
����6� )���������6  

2. � /0
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���)#�)����%���0��07�%����
����� ���)�%7( �28��
�����1 )��������������1�����
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1. �!����������� ���������04�%4�����������1��<���< 1/
 �������� 289 1� 1�$ 19 1�

16���������!�������� 4 1� #$%��1�
� 100 1� #$%�!������ 13 1�
2. ���&����
�&�� ����������4�1��<���< "�����������<���� 425 1� �!������?����&�

���
�&�����4�%�����(
��1�"@�)���
��)�� (Krejcie and Morgan) 7�%���&����
�&�� 201 1� ���
��&�)��)�&���<�"�����������<���� 7�%���&����
�&���������� 137 1� 16���������!��������)��
1�$ 9 1� #$%��1�
� 47 1� #$%�!������ 6 1�
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3. �1�/0
��/
��04�%4�����������
3.1 �1�/0
��/
��04�%4�����������1��<���< 1/
)���
�Q�� "!����  3 ���� �����<

������0 1 )���
�Q�� 4�%��:�(%
�$�"��16�1�$ �����<
�
���0 1  �Q���3� ��0�7�(
�#$%�
�)���
�Q�� 7�%)�& 1�$)��16��������

�!���������1�������
��
�������� /0
���������$%����������1���%�����
�������
�
���0 2  ��?�)��������&�������61&��������4��%���2""��(
����

�!��������
�
���0 3  ��?�)��������&�������61&������������������!��������
�
���0 4  ��?�)��������&�������61&��������#��!���:"
�
���0 5  �28�� 
�����1 )�����)�%7()��(%
���
)�����0���������������

�1�������
��
�������� /0
���������$%����������1���%�����
�������
������0 2  )���
�Q�� 4�%��:�(%
�$�"���������� �����<

�
���0 1  �Q���3� ��0�7�(
�#$%�
�)���
�Q�� 7�%)�& ��������4��1�����
��
��
�������� /0
���������$%����������1���%�����
�������

�
���0 2  ��?�)��������&�������61&�������� �%
�4��%���2""��(
�
����!��������

�
���0 3  ��?�)��������&�������61&������������������!��������
�
���0 4  ��?�)��������&�������61&��������#��!���:"
�
���0 5  �28�� 
�����1 )�����)�%7()��(%
���
)�����0���������������

�1�������
��
�������� /0
���������$%����������1���%������
�������  
������0 3 )���
�Q�� 4�%��:�(%
�$�"��#$%��1�
�)��#$%�!������ �����<

�
���0 1  �Q���3� ��0�7�(
�#$%�
�)���
�Q�� 7�%)�& #$%��1�
� )��#$%�!�
������1�������
��
�������� /0
���������$%����������1���%�����
�������

�
���0 2  ��?�)��������&�������61&��������4��%���2""��(
����
�!��������

�
���0 3  ��?�)��������&�������61&������������������!��������
�
���0 4  ��?�)��������&�������61&��������#��!���:"
�
���0 5  �28�� 
�����1 )�����)�%7()��(%
���
)�����0���������������

�1����� ��
��
�������� /0
���������$%����������1���%�����
�������
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3.2 ��� �R���1�/0
��/
 4������������1�������
��
�������� /0
���������$%
����������1���%�����
������� ��(�<��
���� �R���1�/0
��/
 �����<

(�<���0 1  �	�
����
6���/
���)����0�%
����"���� �!�����1����%�� (
��(�(
�
���)�� �������	�
�"���!��� �
������0���0��(%
�

(�<���0 2  �!���������:�����(
����)����0"���� ��/
1�6���
6��&�� S )��)"�
)"� 4�%��?������:��&
� S ���4�%1�
�1��������:�����(
��1�����

(�<���0 3  �!��������&��)��"!����(%
1���"�������:�����)���!����������/

�$�)��1!�Q��4�%�������)���
�1�%
���������:���0�%
�������

(�<���0 4  �&��)��"�� �� ��1�/0
��/
 ()���
�Q��)  
(�<���0 5  ���"�
�1������(
��1�/0
��/
���#$%���0����81/
 #�.��. �
���(  ���)��


�"������������������3�5���������
(�<���0 6  ��������)�%�7(�1�/0
��/
"���&�"� ��&���1�63�  "	��!�7�4�%��:�(%
�$�

4. �����:�������(%
�$�
#$%�������7�%�!������:�������(%
�$��������T������:�(%
�$�)���&��������0��:�(%
�$� �����<

4.1 ���"�
�1���������%
�(
�)���
�Q��
4.2 �!������������4������:�������(%
�$� #$%��������7�%��!���������������

��:�(%
�$���<�)�&���/
�������� 2548 Q	� ��/
����3� ��T� 2549 ���4�%)���
�Q����0��%��(	<�
4.3 �!����������:�������(%
�$� #$%�������7�%�!����������:�������(%
�$������0

�!����7�%� ���4�%)���
�Q����0��%��(	<�1/
)���
�Q��������0 1 ��:�(%
�$�16�1�$��07�%���
�
�����4�����5������ ��:�(%
�$���0�7�4��%�����������1��� �%
�4��%���2""������!�������� 
�%������������!�������� )��#��!���:"�����;����� )���
�Q��������0 2 ��:�������(%
�$�
"���������� @	0�4�%��:�(%
�$�4��%���2""������������5�������� )��#��!���:"�����;������ )��
)���
�Q��������0 3 ��:�(%
�$�"��#$%��1�
� )��#$%�!������ @	0���:�(%
�$�4��%���2""�����������
�5��������)��#��!���:"�����;�����

4.4 ���"�
�"!����(
�)���
�Q���&�1�����"!������/
7�&#$%�������"��%
�
���"1������$�6�(
��1�/0
��/
 ��� ��&����7�&���$�6��:�!����������:�(
�$�"�1�����"!����
)�����$�6���0��� � /0
4�%������������<���1������0�����)��������T�3� �����0�(	<�
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5. ������1�����(%
�$�
#$%�������7�%�!�������1�����(%
�$�"��)���
�Q�������<

5.1 (%
1!�Q��������U� )����?� 2 (%
 1/

5.1.1 �Q��3� ��0�7�(
�#$%�
� ����
�7��%��� � )��
���� ����1������(%
�$�

��������1&��%
���
5.1.2 ��������%���2""������!�������� �%������������!�������� �%��#�

�!���:")���%���28�� 
�����1 4�������"�
��������1�����6��1���
��
�������� /0
���������$%
(%
1!�Q���� 5 �����/
� ��&� �����0��� ��� ������� �%
� �%
���0��� "�4�%1&�����0�)���&�����0�����
����V��4�������1������

5.2 (%
1!�Q�������U� )����?� 2 (%
 1/

5.2.1 (%
���
)��� �0����� (
�16�1�$��07�%����
�����4�����5�������%���0

�%���2""������!�������� �%������������!�������� �%���28�� 
�����1 )��#��!���:"�����;�����
���1�����(%
�$����������1�������/<
1���)����������������

5.2.2 (%
���
)��� �0�����  )���1���1����:�(
���������#$%��1�
�)��#$%�!�
����� ���1�����(%
�$����������1�������/<
1���)����������������

��"
&.�	�
����
�
1. #�����������1��� �%
��%���2""���1�������
��
�������� /0
���������$% �������

��1���%�����
������� ��� �"��6�"��1���1����:�(
�16�1�$ �������� #$%��1�
�)��#$%�!������
����#����������������<

1.1 #������������2""����/<
��%���/
��� ����4��1�������
��
�������� /0
���������$%
����������1���%�����
������� 
!��3
������ "��������������  

1.1.1 #������������2""����/<
��%���/
��� ����4��1�������
��
��������
� /0
���������$% ��� �"��6�"��1���1����:�(
�16���������!��������)��1�$#$%�
� 7�%#������<

16���������!��������)��1�$#$%�
� ��1���1����:����0������2""����/<
��%���/

��� ����4��1�������
��
�������� /0
���������$% ���3� ��� ��1����������
�$&4��������� 
( X = 3.73 ; S.D. = 0.46) #&����6\���0�&� 
4" � /0
 �"��6���?����(%
  ��&� ��1���1����:��&� ���
1����������
�$&4��������� #&����6\���0�&� 
4" ��"!���� 16 ��/0
� 1/
 ��������)�&���<���1����
��?�#$%�!���������%����
��
������� ��� �"��6�Q	�1����$%1��������Q)��1���Q��� �Q����04�
����!����������1���������� �����Q�
������"����)��"!������������ �Q����04�����!�����
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��"������1����������
�3���&
����!�������"��������1����� �����"���!�)#��5��������
�1�������
��
�������7�%��?�������
6�
��
� ���4�%"&���������6��?�7����1���"!���?�)��
Q$��%
�������� ���4�%�����4�����!����������1���������� �����"���!�)#��5��������4����
"����"�����&�� S �����0�!����7�%4��1����� ��������4�%������������������6
�&��� ��� 

���������������������<)"�4�%16���������1�������
��
�������� /0
���������$%�(%�4"4�(
�(&��
�������%���01������#���
� ��������7�%�!����(
�(&����%���0���#���
�(
�16���������1�����
��
��
�������� /0
���������$%7�%�
�&������"� �����
����6���0"!���?��!���������5����������� ��� 
 
1��Q%��)��������������"������0�5������ �������"&���������6������!����������?�(�<��
�
)#��5��������������!�������Q������1�)����;�����7�%
�&������"������Q�5�����7�%� ��1�������
1����$%1����(%�4"4�(
�(&���������%���0)��)���5�����4�����!������������1����� ��������
��0�!����7�%4�)#��5����������1���������������"����)��"!������������ )���������"&��
�������6��1�������� 1�&
����)�������:� �&����/0
���0��1���1����:��&���1����������
�$&4�
������������ 7�&#&����6\���0�&� 
4" ��"!���� 3 ��/0
� 1/
 ����������U��
���4�%�����)��#$%��4"
��0��1����$%1��������Q�%����
��
��������(%�����?�16���������!�������� ���
����4�%1����$%
)��4�%
%��
��4�����5��������
�&��� ��� 
)��������� )�� ��1������0�!����7�%4��1��������
"!����� ��� 
)����������&
����!��������

1.1.2 #������������2""����/<
��%���/
��� ����4��1�������
��
��������
� /0
���������$% ��� �"��6�"��1���1����:�(
�#$%��1�
�)��#$%�!������ 7�%#������<

#$%��1�
�)��#$%�!������ ��1���1����:����0������2""����/<
��%���/
��� ����4�
�1�������
��
�������� /0
���������$% ���3� ��� ��1����������
�$&4������������� ( X = 3.37 ;
S.D. = 0.61) ���7�&#&����6\���0�&� 
4" ��/0
 �"��6���?����(%
  ��&� ��1�����:��&���1����������

�$&4��������� #&����6\���0�&� 
4" ��"!���� 3 ��/0
� 1/
 �Q����04�����!�������"������1��������
��
�3���&
����!�������"��������1����� ��������7�%�!����(
�(&����%���0���#���
�(
�
#$%��1�
�)��#$%�!������4��1�������
��
�������� /0
���������$%7�%
�&������"� )����������4����
"����"�����
/<
�&
����5�������� �&����/0
���0��1���1����:��&���1����������
�$&4�������������
���7�&#&����6\���0�&� 
4" ��"!���� 18 ��/0
� 1/
 �����
����6���0"!���?��!���������5����������� ��� 

1��Q%��)��������������"������0�5������ ���4�%"&���������6��?�7����1���"!���?�)��Q$��%
�
������� ������
���)��(�<��
�(
����"����"����)�&���%����1�������"�)����������&
���
�5������ �
������04�%4�����5�������"������1�������"� 
&���&�� �Q����04�����!����������1���
������� �����Q�
������"����"!����#$%�5�����)��#$%��4"7�%� ���4�%�����4�����!�����������



6

1���������� �����
����6���04�%4����"����"������1�63� ���������������������<)"�4�%#$%��1�
�
)��#$%�!�������(%�4"4�(
�(&���������%���01������#���
� ���)��#$%��1�
�)��#$%�!���������
1����(%�4"4�(
�(&���������%���0)��)���5�����4�����!������������1����� ����������0
�!����7�%4�)#��5����������1���������������"����)��"!����#$%�5�������� ����������U��
���
4�%�����)��#$%��4"��0��1����$%1��������Q�%����
��
��������(%�����?�16���������!��������
��� �"��6�Q	�1����$%1��������Q)��1���Q���)��1�����4" ���
����4�%1����$%)��4�%
%��
��
4�����5��������
�&��� ��� 
)��������� ��"������0�!����7�%4�)#���1�������"� �&���&
���
�5������ ��1����)��#$%���0��(%
�������/0
����!�1����(%�4"���0���������5�������� �������"&���������6
��1�������� 1�&
����)�������:� ��1������0�!����7�%4��1�������"!����� ��� 
)���������
�&
����!�������� �����"���!�)#��5���������1�������
��
�������7�%��?�������
6�
��
� )��
��������4�%������������������6
�&��� ��� 


1.1.3 #������������2""����/<
��%���/
��� ����4��1�������
��
��������
� /0
���������$% ��� �"��6�"��1���1����:�(
���������#$%�(%��&���1����� 7�%#������<

����������0�(%��&���1����� ��1���1����:����0������2""����/<
��%���/
��� ����
4��1�������
��
�������� /0
���������$% ���3� ��� ��1����������
�$&4��������� ( X = 3.79 ;
S.D. = 0.47) #&����6\���0�&� 
4" ��/0
 �"��6���?����(%
  ��&� ��1�����:��&���1����������
�$&
4��������� #&����6\���0�&� 
4"�����/0
� 1/
 �
����4�%1����$%��1�������"� 
&���&�� �����"���!�
������
���)��(�<��
�����!�������"�����%���&�� S 7�%
�&������"� ��������4����"����"����
�&������1�����4")������/
�/
�%�4�����5�������� �Q����04�����!����������1����������  
�����Q�
����"!������"����)��"!������������7�%� �Q����04�����!����������1��������
��
�3���&
����!�������"��������1����� ���4�%�����
����6�4�����!�������"�����%���&�� S 
��1���������� 16���������!����������?�#$%��1����$%1��������Q���0�������/0
���0���#���
�
����������0�!����7�%4���"����)�&���%����1�������������"!������������ �����
����6�)��
�/0
�&�� S ��04�%����
����"����"����4��%���&�� S ��1�63� ��"������0�!����7�%4�)#���1���
����"�4�����5������ ��"!����16��������� ��� 
)���������4�����!�������� �
������04�%�
����
��1�������1���� ��� 
���"!��������������0�5�������� )��(�<��
�����5����������1���
��� ��T��������������0�!����
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1.2 #���������������������!��������4��1�������
��
�������� /0
���������$%
�����������1���%�����
������� 
!��3
������ "��������������  

1.2.1 #���������������������!��������4��1�������
��
�������� /0
���������$%
��� �"��6�"��1���1����:�(
�16���������!��������)��1�$#$%�
� 7�%#������<

16���������!��������)��1�$#$%�
� ��1���1����:����0����������������!��������
4��1�������
��
�������� /0
���������$% ���3� ��� ��1����������
�$&4��������� ( X = 3.68 ;
S.D. = 0.50) #&����6\���0�&� 
4" ��/0
 �"��6���?����(%
  ��&� ��1�����:��&���1����������
�$&
4��������� #&����6\���0�&� 
4" ���"!���� 16 ��/0
� 1/
 ���
6�(
�����!�������"�����������
�
�1�%
���������1����$%1��������Q(
�#$%�5������ ����!�������"�����&�� S 4��1�������?�7�
���)#��5����������0�!���� ����������!�������"�����&�� S ��1����������Q$��%
���������]
^��
����!�������"�����&�� S ��?�7�����!����(�<��
����������������0����"� ������
��������
4�%���)������������1����$%1��������Q)��1���Q���(
�#$%�5�������� ��������4����
�!��������)�&����"������1���������� � ��� 
)�������Q�5�����7�%� �������������"����"����
 �R���������)��#$%���0��(%
� ��&� ��������� 
��� ���0�������
��
�������� ���������&
���������
�����1����)����&�������0���0��(%
�
�&����������T�3� ������/0
����������� ��T����0�����(�<��
�
����!��������4�%���_`���(%�4"������ ��"�����&�� S �!��������7�%��������0�!����7�%4�)#��5��������
���1��1�� �!���� �$�)���?�7�������(�<��
�
�&���������������)������/0� �������U��
���
4�%��11���0���0��(%
�7�%4�%(%
���
)�����0���������!�������"���� ���������������������<)"�4�%�
16��������)����11���0���0��(%
�7�%�(%�4"�������%���0��07�%����
����� ���������	��28��)��

�����1� /0
4�%��?�)�����4����)�%7(�28�� ������!��������)�%7(�28�� 
�����17�%
�&���������
)������&���� )��������������� ��T����0�����(%
�$�)����"��������1�����7�%
�&������"� �&��
��/0
���0��1���1����:���1����������
�$&4������������� 7�&#&����6\���0�&� 
4" ��"!���� 3 ��/0
�
1/
 ������������� )�%7(����!������������1�����7�%
�&��������� ����������� ��	�
����/
)��
���)#����)�%7(�28�� )�����������	�#�����5�������"����7�%��?�������
6�
��
�

1.2.2 #���������������������!��������4��1�������
��
�������� /0

���������$% ��� �"��6�"��1���1����:�(
�#$%��1�
�)��#$%�!������ 7�%#������<

#$%��1�
�)��#$%�!������ ��1���1����:����0���������������!��������4��1�����
��
��
�������� /0
���������$% ���3� ��� ��1����������
�$&4������������� ( X = 3.45 ; S.D. =
0.61) ���7�&#&����6\���0�&� 
4" ��/0
 �"��6���?����(%
  ��&� ��1�����:��&���1����������
�$&
4��������� #&����6\����������� Q/
�&������#���?���0�&� 
4" ��"!���� 4 ��/0
� 1/
 ���
6�(
�
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����!�������"������������
�1�%
���������1����$%1��������Q(
�#$%�5������ ����!�������"����
�&�� S ��?�7�����!����(�<��
����������������0����"�, �����������������16���������!��������
�������� #$%��1�
� )��#$%�!������
�&����0!����
)����������T�3� )��������/0
����������� ��T��
���0�����(�<��
�����!��������4�%���_`���(%�4"������ �&����/0
���0��1���1����:��&���1����������

�$&4������������� ���7�&#&����6\���0�&� 
4" ��"!���� 10 ��/0
� 1/
 ���1��1�� �!���� �$)�
�&��
��?�(�<��
� ��������4�����!��������)�&����"������1���������� � ��� 
)�������Q�5�����7�%�
������������� ��T����0�����(%
�$�)����"��������1�����7�%
�&�������"� ����������!�����
��"�����&�� S ��1����������Q$��%
���������]
^�� ������������� )�%7(����!�����������
�1�����7�%
�&��������� ����!�������"�����&�� S ��?�7�����!����(�<��
���0�!����7�%4�)#�
�5�������� ��"�����&�� S �!��������7�%��������0�!����7�%� ���������	�#�����5�������"����7�%�
��?�������
6�
��
� �������U��
���4�%��11���0���0��(%
�7�%4�%(%
���
)�����0���������!�����
��"���� )��16�������������)�%7(�28�� 
�����17�%
�&���������)������&�����

1.2.3 #���������������������!��������4��1�������
��
�������� /0

���������$% ��� �"��6�"��1���1����:�(
���������#$%�(%��&���1����� 7�%#������<

����������0�(%��&���1����� ��1���1����:����0���������������!��������4��1�����
��
��
�������� /0
���������$% ���3� ��� ��1����������
�$&4��������� ( X = 3.81 ; S.D. = 0.50)
#&����6\���0�&� 
4" ��/0
 �"��6���?����(%
  ��&� ��1�����:��&���1����������
�$&4��������� 
#&����6\����������� Q/
�&������#���?���0�&� 
4"4������/0
� 1/
 ������������� ��T�(%
�$�
(&�����4���/0
���
��
�������4�%�����������
�&����0�Q	�)������"� �������U��
���4�%��11���0���0��(%
�
7�%4�%(%
���
)�����0���������!�������"���� ����!�������"�����&�� S ��?�7�����!����(�<��
�  
���������������0����"� ������/0
����������� ��T�4�%���������(%�4"4�(�<��
�����!��������4�
��"�����%���&�� S ���
6�(
�����!�������"������������
�1�%�
���������1����$%1��������Q
(
�#$%�5������ ������������� )�%7(�28��4�����!������������1�����7�%
�&��������� ���������
�!�������"�����&�� S ��1����������Q$��%
���������]
^�� 16���������!�������������)�%7(
�28�� 
�����17�%
�&���������)������&����� )����������4�����!��������)�&����"�������
1���������� � ��� 
)�������Q�5������7�%�
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1.3 #�����������1����!���:"(
�����!������������1�������
��
�������� /0

���������$% ����������1���%�����
������� 
!��3
������ "���������������

1.3.1 #�����������1����!���:"(
�����!������������1�������
��
��������
� /0
���������$% ��� �"��6�"��1���1����:�(
�16���������!��������)��1�$#$%�
� 7�%#������<

16���������!��������)��1�$#$%�
� ��1���1����:����0�����1����!���:"(
����
�!���������1�������
��
�������� /0
���������$% ���3� ��� ��#��!���:"
�$&4��������� ( X = 4.23 ;
S.D. = 0.46) #&����6\���0�&� 
4" ��/0
 �"��6���?����(%
  ��&� ��1�����:��&���#��!���:"
�$&4������
��� #&����6\���0�&� 
4"4������/0
� 1/
 ���������������Q	���
��0����"�����4�%����1��4�����!�
��
������ ����������������������������)��4�%������#$%
/0�
�&����:�4" ������������ ]���������
����!���� �����������<!�4"�&�����/
��/<
�$���� ������������1���3�13$��4"4�����!���� ��������
�������Q	���������(
�����!��������)��#���#�(
���
��
�������7�4�%��������
������
����������1����$%1����(%�4"���0������]
^�� ������� ����������!��������)��#�#�����07�%"��
�5�������"���� �������������Q�������4�%�(%����#$%
/0�7�%� �������������
�4�����5���������%��
��
��
��������� )������������1��������Q4����4�%��������
��
�������4���/0
��]
^� �������
����������!��������)��#�#���)�&��0��4"7�%
�&��Q$��%
�

1.3.2 #�����������1����!���:"(
�����!������������1�������
��
��������
� /0
���������$% ��� �"��6�"��1���1����:�(
�#$%��1�
���1�
�)��#$%�!������ 7�%#������<

#$%��1�
�)��#$%�!������  ��1���1����:����0�����1����!���:"(
�����!��������
�1�������
��
�������� /0
���������$% ���3� ��� ��#��!���:"
�$&4��������� ( X = 3.64 ; S.D. = 0.64)
#&����6\���0�&� 
4" ��/0
 �"��6���?����(%
  ��&� ��1�����:��&���#��!���:"
�$&4��������� #&��
��6\���0�&� 
4" ��"!���� 7 ��/0
� 1/
 ����������1����$%1����(%�4"���0������]
^� ������� ������
����!��������)��#�#�����07�%"���5�������"���� �������������Q�������4�%�(%����#$%
/0�7�%� ��������
����1���3�13$��4"4�����!���� ���������������Q	���
��0����"�����4�%����1��4�����!���
������
�����������<!�4"�&�����/
��/<
�$���� ���������������������������)��4�%������#$%
/0�
�&����:�4" )�� 
���������������Q	���������(
�����!��������)��#���#�(
���
��
�������7�4�%������
��
������ �&����0��1���1����:����0�����1����!���:"�$&4������������� 7�&#&����6\�����������
���Q/
�&�7�&�����#���?���0�&� 
4" ��"!���� 3 ��/0
� 1/
 �������������
�4�����5���������%��
��
��
�������� ����������1��������Q4����4�%��������
��
�������4���/0
��]
^� ������� ������
����!��������)��#�#���)�&��0��4"7�%
�&��Q$��%
� )�������������� ]�������������!����



10

1.3.3 #�����������1����!���:"(
�����!������������1�������
��
��������
� /0
���������$% ��� �"��6�"��1���1����:�(
���������#$%�(%��&���1����� 7�%#������<

��������#$%�(%��&���1����� ��1���1����:����0�����1����!���:"(
�����!��������
�1�������
��
�������� /0
���������$% ���3� ��� ��#��!���:"
�$&4��������� ( X = 4.23 ; S.D. = 0.46)
#&����6\���0�&� 
4" ��/0
 �"��6���?����(%
  ��&� ��1�����:��&���#��!���:"
�$&4��������� #&��
��6\���0�&� 
4"4������/0
� 1/
 ������������1���3�13$��4"4�����!���� �����������<!�4"�&������/

��/<
�$���� ����������1����$%1����(%�4"���0������]
^� ������� ����������!��������)��#�#���
��07�%"���5�������"�������������������Q	���
��0����"�����4�%����1��4�����!���
������ ��������
�������������������)��4�%������#$%
/0�
�&����:�4" �������������Q�������4�%�(%����#$%
/0�7�%� ��������
�������Q	���������(
�����!��������)��#���#�(
���
��
�������7�4�%��������
������
�������������
�4�����5���������%����
��
��������� ������������ ]�������������!���� )����������
��1��������Q4����4�%��������
��
�������4���/0
��]
^� ������� ����������!��������)��
#�#���)�&��0��4"7�%
�&��Q$��%
�

3.4 #�����	�
�(%
���
)��� �0�����  ���0������1�������
��
�������� /0
���������$%
����������1���%�����
������� 
!��3
������ "��������������  

16���������!�������� 1�$#$%�
� #$%��1�
� #$%�!������ )����������#$%�(%��&���1�����
7�%4�%(%
���
)��� �0��������0������1�������
��
�������� /0
���������$% ����7�%�����<

3.4.1 �%���2""����/<
��%���/
��� ����4��1�����  
1) 1��� �0���1����#$%���#���
�4�)�&����"����4�%��"!����� ��� 


)����������&
����!��������
2) ��������1����U��
���4�%�����)��#$%��4"��0��1����$% 1��������Q

�%����
��
��������(%�����?�16���������!��������)�����&���&��4��1�����4�%�����&���<
3) 1��"�����
����4�%1����$%4�����5��������� �0�����4�%� ��� 
���

"!��������������0�(%��&���1�����
4) 1��"���������
����6�4�����!�������"����4�%� ��� 
���"!����

��������#$%�(%��&���1�����  
5) ��������1���������������<)"�4�%#$%��1�
� #$%�!������ 4�%����

���0���������!������������1�����
&����0�Q	�)���&
��/0
������&���<
6) 1�������"���!�)#��5����������?�������
6�
��
� ��1�������"�

)����������&
����5������
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7) 1�������"�����������64�����!���������1������ �0�����4�%�
�����&���<

3.4.2 �%������������!��������4��1�����
1) 1�����������	�#�����5��������"����)�&����"������?�������
6�


��
� )��������#�4�%#$%�������������� �������� ��T�4�%��1���� ��������)�����������
2) 1�������"����������	�
����/
���0������28�� 
�����1)���&�����

���)#�)�%7(�28��4�%�����&���<
3) 1��������������� ��T��1�����4�%�����&���<
4) 1�������1��1��  �!����  ����!�������"�����&�� S 4�%��?�7����

(�<��
�)������������0�!����7�%4�)#��5��������
5) 1����U��
���4�%��11���0���0��(%
���/
#$%��0��1����$%1��������Q

�%����
��
����������&���&��4����1��1�� �!���� )��4�%(%
���
)��4�����!�������"�������
�1�����

6) 1�������"���5��������5��������4�%������������������ 7�&@<!�@%
�
�����"����
/0�4���������

7) 1�������"���!���?������$��������������
�4�%����"� �!��������
����4����"����"������0����"�  ��1����&
��/0
�

8) 1�������"��
���4�%)�&#$%��1�
���0��4"�(%��&���1����� )�����
�����T���5�����4������

3.4.3 �%��1����!���:"(
�����!������������1�����
1) 1�������"��
���� �0��������0�������
��
�������4�%����������1����$%

1����(%�4"���0������]
^�� ������� ��������� )��#�#������07�%���"������5�������"���� � /0
4�%�
�����Q4�%�������%����
��
�������)�&�����)��#$%��0��4"7�%
�&��Q$��%
�

2) 1������������%�4�%������������1�7�%���/
�5�������"�����%�����
�
� /0
4�%��������
�4�����5���������%����
��
�������4�%�����&���<

3) 1������������%�4�%������������ ]�������������!���� )����1���
���#���
�4�%������&���<

4) 1��������!�#���#���07�%"������!�������� 7�4�%�����4�%���������
� /0
4�%��������)�������"�7�%����1���3�13$��4")����:�1����!�1�8(
���"�����%����
��

��������


